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Equations of Lines

n each of the following exercises, yvou are
given information about a line and then asked
o find its equation.

To check your solution, place the equation of
he line in the function entry line at the bottom
of each page.

f needed, adjust your equation until you find
he correct answer,
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1. Find the equation of the line that passes
through the given points.
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2. Find the equation of the line with the given
slope that passes through the given line,
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3. Find the equation of the line parallel to the
given line that passes through point P,
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4. Find the equation of the line that is
perpendicular to the given line and passes
through point P.
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|'I. Which lineds) are parallel to 5x + 2y = 5»
all correct answers.
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y= -25x+ 7

Sx+2y=0
2+ 5y =10
Sx+5y=7%
Sy =2x

2 -5y =12
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R. Which line isloarallel to sx + 2y =9 and
passes through the origin.
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y=-25x+7

Sx+2y=0
2+ 5y =10
Sx+5y=7%
Sy =2x

2 -5y =12
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|3. YWhich line{s) are perpendicular to
Sx+ 2y =% Mark all correct answers.
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y=-25x+7
Sx+2y=0
2+ 5y =10
Sx+5y=7%

Sy =2x

-5y =12
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4. Which line is perpendicularto sy + 2y = 9
and passes through the origin?
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y=-25x+7

Sx+2y=0
2+ 5y =10
Sx+5y=7%
Sy =2x

2 -5y =12
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hich of the following line(s) are parallel to yw
Mark all correct answers.

A y=9

B . x=0

Cox=7

Doy=x
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hich of the following linels) are
pendicular toy =77 Mark all correct
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A y=9

B . x=0

Cox=7

Doy=x
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